Stat 401 A: Lab 4 self assessment
[bookmark: _GoBack]The data in fishprice.txt  has data on the price of different types of fish in 1980, 1970, and 1970 after adjusting to 1980 dollars (i.e., the 1970 price adjusted for the overall inflation rate).  The concern is whether average fish price has changed more than expected from inflation alone.   If so, that is considered evidence of overfishing.
We will only consider the 1980 price compared to the 1970 adjusted price.  Ignore the original 1970 price in these analyses.
1) Plot the difference in prices against the average price.  Plot the ratio of prices against the average price.   What in these plots suggests that the ratio is a better way to compare the two prices?
2) Calculate the log transformation of the 1980 price.  Then estimate the mean log transformed 1980 price.  
3) Estimate the mean difference between the log adjusted 1970 and log 1980 prices and its standard error.
4) Use a paired t-test to test the null hypothesis of no change in average log transformed price.  What is the p-value for that test.

Answers:
1) The difference seems to depend on the average: more expensive fish have larger differences.  The ratios are approximately the same across fish of different prices.
[image: ]
2) estimated mean: 4.19,  se:  0.32
3) mean difference (log 1980 – log 1970): 0.234, se: 0.073
4)  p = 0.0068
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